Stat 2470, Quiz #4, Spring 2015 Name ~ KE\(/

Instructions: Show all work. State any formulas used. If you use the calculator, you should say which
function you used, and what you entered into it, as well as any output. | can only give partial correct for
incorrect answers if | have something to grade. |

1. Fora card trick, a magician claims he can pull 3 aces out a deck in 4 cards or fewer. If he does

not put the cards back, this situation can be modeled by a hyioergeometric distribution. What is
the probability he will succeed if he’s really pulling the cards at random?
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The number of custontfers arriving at an ice cream truck on a Busy downtown street can be

modeled with a Poisson distribution with a mean of 23 customers per hour. If the truck owner
decides to take a 10-minute coffee break, what is the chance
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< porssacd (2%, 1) = .I0453 .52
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3. Find the value of k that will make f(x) = {chz, 0<sx<2, legitimate probability distribution.

0, otherwise
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